Networking Technologies - Review exercise
1. A Campus Area Network has a larger scope than a Metropolitan Area Network
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2. A modem can be used to convert analog signal into digital data
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3. A network operating system is used on client computers. It allows the 
    network administrator to manage network resources.
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4. A workstation operating system is used on client computers. It allows regular 
    users to manage resources available locally on the client computer.
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5. In a bus topology, a central collection point called a hub or a switch is used to 

    connect all network computers.
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6. In a Peer-to-Peer network some computers are configured to provide services like 

    file or printing services, and others are configured to receive those services.
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7. No collisions occur in a network using the Ring topology.
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8. Which of the following is an example of Wide Area Network?

a) Eastern Illinois University’s computer network

b) The kind of network used by FBI agents in the U.S. and in other countries

c) All of the above
9. Which of the following transmission media are made up of cooper wire? (Choose all that apply)
a) Telephone cable

b) Coaxial cable

c) Fiber optic cable

d) None of the above
10. Which of the following is a kind of wireless transmission media? (Choose all that apply)
a) Fiber optic cable

b) Infrared light

c) Radio waves

11) Which of the following would be considered an advantage of implementing a network versus using stand-alone computers?

a. Sharing hardware resources

b. Sharing software resources

c. High reliability

d. All of the above

12) Devices connected to a network are called:

a. Modules

b. Connectors

c. Network interface

d. None of the above

************************************ SEE BACK ********************************
13) Which of the following transmission media has a cable made up of plastic or glass?

a. Twisted pair

b. Coaxial cable

c. Fiber optic cable

d. None of the above

14) Each device in a network must be equipped with this card in order to connect and share information:

a. AGP

b. Hub

c. BUS

d. NIC 

15) Which of the following transmission media are made up of copper wire? (Choose all that apply)

a. Twisted pair

b. Fiber optic cable

c. Coaxial cable 

d. None of the above

16) In a network with a BUS topology, if this component fails, the entire network is down. What component is it?

a. NIC

b. cable

c. Hub

d. None of the above

17) In a network with a ring topology, if this component fails, the entire network is down. What component is it?

a. NIC

b. cable

c. Hub

d. None of the above
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